***’: i

‘k*‘k

APEX DYNAMICS, INC.

2PB2-C

AL

%
1D

Z

ax

OH

TR 55 E BRI - WA RER BRI < 2

BREREE -

AEEAUEZ I - BE)/EHRRE

BEIHER

IR IR -

o

369'
bﬁbr‘

/'c
/‘V ]
=

a. NFNHELREZE -
b. ELME - BLEFERE -

& FTEe#EEs D

EF/ERTHM - HEBRENKRET
FECPINAR - {5 5H SR ER IR ER T 8

2EB - /“«
/i\

"!‘\

\

l

EREFEHORY  &5BULE » &

HWBE -

BUNMEAFRTE l;{?riﬁ’*v‘ﬁ}ﬂbﬁ (x—) 258
K 1~4 IR - BIRFRBHERA 2K

JMERZ 5% °
FRETEEER -

RRERBRBBIER 2R
& BAOIRFHBHEHZRIRMERE -

K_EBBIHD

1 RERBRMBITER - LIRMBNDR (R—

ZIBNE

) BE

K 1~4 B - BEDRNFRIRMBERK -




e~ | Bl =
gl L] RN (Bt 8.8 B SEERE rt 10.9 RSB I 12,9 ALY B
[mm] [Nm] [In-1bs] [Nm] [In-1bs] [Nm] [In-1bs]
M3 x 0.5P 2.5 1.3 12 1.8 16 2.1 19
M4 x 0.7P 3 3 27 4.1 37 4.9 44
M5 x 0.8P 4 6.1 55 8.2 73 9.8 87
M6 x 1P 5 11 98 14 124 17 151
M8 x 1.25P 6 25 222 34 302 a1 364
M10 x 1.5P 8 49 434 67 594 80 709
M12 x 1.75P 10 85 753 116 1028 139 1232
M14 x 2P 12 137 1214 186 1648 223 1976
M16 x 2P 14 210 1860 286 2534 343 3038
B S BB R |
TR BBk A Helin L] PR B
[mm] [mm] [mm] [Nm] [In-1bs]
ADRO47 | M & <11 M3 x 0.5P x 8L 2.5 2.1 19
ALRO70 “ g <11 M3 x 0.5P x 8L 2.5 2.1 19
ADROG4 | W <14 M4 x 0.7P x 12L 3 4.9 a4
ALRO9S  Hws gy <11 M3 x 0.5P x 8L 2.5 2.1 19
ADROSO | H <19 M5 x 0.8P x 14L 4 9.8 87
ALR110 “ g <14 M4 x 0.7P x 12L 3 4.9 44
ADR1l0 | ¥ <32 M6 x 1P x 16L 5 17 151
ALR150 “ g <19 M5 x 0.8P x 14L 4 9.8 87
ADR140 | W& <38 M8 x 1.25P x 20L 6 41 364
ALR190 “ g <32 M6 x 1P x 16L 5 17 151
ADR20O | W <48 M10 x 1.5P x 25L 8 80 709
ALR230 s gy <38 M8 x 1.25P x 20L 6 41 364
ADR2SS | ¥ ] <55 M12 x 1.75P x 30L 10 139 1232
ALR280 w g <48 M10 x 1.5P x 25L 8 80 709
RE: ARSI o A s - %« (OB |1 SIS 20% 1

Mkt 40763 & PP THIERHE =#810 5

Hah - 886-4-24650219 /

45 : 886-4-24650118

APEX-2014-12-1 E



	2PB2-C-正
	2PB2-C-背

